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Shopping Multiplication

Solve the following word problems.

John bought 7 shirts. Each shirt cost him $34. How
much did he spend in total?

Emily bought 5 dresses. Each dress cost her $62.
How much did she spend in total?

Peter bought 6 pairs of shoes. Each pair cost him
$45. How much did he spend in total?

Sara bought 9 handbags. Each handbag cost her
$53. How much did she spend in total?

David bought 8 ties. Each tie cost him $26. How
much did he spend in total?

Lily bought 4 jackets. Each jacket cost her $78.
How much did she spend in total?

Mike bought 3 pairs of jeans. Each pair cost him
$64. How much did he spend in total?

Anna bought 5 skirts. Each skirt cost her $47. How
much did she spend in total?

Tom bought 7 hats. Each hat cost him $29. How
much did he spend in total?

10 Lucy bought 6 scarfs. Each scarf cost her $35. How
‘bmuch did she spend in total?
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